Sk

g
Tl
>

1. ¥¥4
B4 RN B A AT B s VT A S5
JBA T (B B2 BT b T i
(F) P KT b A AT 2

2. EBEAR

1) FEF4

2) BITHIRM

RFNF L THEEEHT ARG

231 HH B 4f 64 9H12H
= Sf T4 4H30H

3) &FEtHM

AFEBIT, RKFNE DAKRIROMEREZ RS D Z L2 HIE T 2¥EETH

Do

4) FEHBNA

1) HoR—Y v 4K 6) {IEt 128
2) WTOF T AR 1
3) AT H—NAFXy—HHll 28 0m
4) =a—F v 7R 15
5) FETETRA 15

E sz TR R



PR NER =

Tl
P

B | RTINS DA RES U R A5 ER A WEERA

HH — XA

HE - M - ] AL % & BH # BN ER

i

— A EY 1 33, 651, 185

EHETRAL 2y 1 28, 662, 992

MR — Y » 7 = 1 16,372,640 | HEAR—V v 7 (A—La 7RV

N 4 m
HBHE T 0 05, 50mEB~80mLL T, $hiE T
¥, ¢ 86mm

TER—V T (F—narTRE—

N 4 m
FEAHEBE LT Y +1D, 50mEE~80mLL T, SR8
T75, ¢ 86mm

ERER—) T (F— a7 R—1

N 40 m
#JCE, 50mtA~80mLL T, $ATE. T H, ¢ 86m
m

ERER—) T (a7 R—1

) 160 m
HE, 50mEE~80mLA T, $REL F 47, ¢ 8
6mm

FEAR— T (A= aTAR—

) 72 m
S, 50mtE~80mEL T, $h1E. T 77, ¢ 86m

m

NTF T A b = 1 8,792,000 | LIF T A I
56 =]

AT A=V A% ¥ T —8L oV 1 2,702,280 | HEE

280 m
TR - AR

280 m

Ta—F v 7R = 1 315,520 | —a—F v 7B
272 m

-1- E sz TR R



== 55 =
FE R PR E
EHAL | KFNY DARRRB M E RS ¥ HYE A
HH — A
THHE - THE - R BT & 4 AR ER
KA AT = 241,552 | FRATSESRA
1 =
A=V TR HER—-Y T
12
Ty AT 2 231,000 | FEFRRAIERE
1 K
MoE % 2y 8,000 | MREL%
4 %N
MEERN AR X 4,988, 193
TR X 1,916, 083 | &M
1 X
Sr— 2, 329,510 | Efji K OWRA AT
1 X
BRI
1 X
BB R - 51m
FAATFLEAZE
1 X
AREPT
(Raxss = 1,928,800 | EIGRx
1 =
AEEIMEL T @ 1687, KEE3mELT : 364
Bl
TiRE A = 613,216 | fc# (FF L - fH5AMW)
1 =
T = 200,584 | Jiti L& P
1 =
B AT, + A A v 33,651, 185
il = 20, 378, 815
-2- ES e’ =M i3 Wi 4 )



%lljll
I

WA | KP)INE DRI RS A2 E
H H
THH - T - fER] 4 % OB N B
AR = 20, 378, 815
— XA =X 54, 030, 000
fEHT S A 2y 203, 484
(R 2 =X 203, 484
AT AT 2y 203, 484 | fRATEIAE
1 X
A=V 7 HEARS . TEAR—Y 7
124
I5m = 354, 000
Hoim 354, 000
e = 354,000 | ¥T&t
1 =
BELREEEE ek & BHERK
3 e
EEEM (ZFOM)smz <) = 557, 484
Ot JFAT = 300, 205
— A = 452,311
TSR A = 1, 310, 000
A SERS M = 55, 340, 000

E sz TR R



